Grade 5 /NE5FE R

1. JETRPT 5 H A E 5T S = i » The direct rays of light emitted from a light source are called
a. J£1ZE Light speed b. F£ELight theory c. L7 Light beam d. JLHE Light energy

2. INEMEREELE KRS E? What happens when the air is heated?

a. 7% Evaporation b. £ FRising c. ;B EBoiling d. TB& Falling
3. HhEk FRIBEE R KER 2RI » Most of the energy on Earth is from

a. #IR 73 Gravity b. {t 2% & Chemical substances

c. & Petroleum d A5 Sun

4. NFEHKHIZRE 2 EE? Which of the following is the biggest organ in the body?

a. I Heart b. XiZBig intestine c. Bl Kidneys d. & skin

5. “HALHETMA KA, BRREETMEET, " WEHNSEEARRERLFEAL?

Which scientific process skill is not used in the statement, "When | put an iron nail in water, it rusts after a few days."?

a. FE 2 S &8 Identifying the problem b. 78 BIMaking predictions
c. 53 ¥ Classifying d. {8 % Making hypotheses
/4

Answers: 1l.c 2.b 3.d 4.d 5.c



Grade 6 /NE6FEHK

1. L THIE A5 A& Z R EREIY? Which of the following animals is not a protected animal?

a. & & B Raphus cucullatus b. B2 & Bucerotidae
c. B2 fiF Blue Whale d. BE3# Panda
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2. PEHAKREIEE, FAT NE SR, EDRIHTFD o
Ancient China had a lot of inventions, such as gunpowder, papermaking, printing, and
a. #1%& Acupuncture b. XEkfE Celestial globe
c. i Bj4& Seismograph d. ¥ #t Compass

BLUTHMEAZEMLRZN, TERMNTRER?

Which of the following is NOT a consequence of deforestation?

a. B £ MRIEL=E Biodiversity loss b. 2 & £ EE Increased productivity
c. BRI RS A Acid rain d. IR1E55 % Pollutions

5. UTHLERZHEHENY ? Which of the following are NOT animals with backbones?
a. YR4E bats b. i &K dolphins c. BE% crabs d.Ehorses

Answers: 1l.a 2.d 3.b 4.b 5.c



